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MTH 261
LINEAR ALGEBRA
SPRING 2017

Determinant Computation

Find partners, and follow the instructions. You will not turn this in, but you must be working
diligently to get attendance credit.

1. Find the determinant of [g : 4] using the special 2 x 2 determinant formula.
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2. Use the special 3 x 3 determinant rule to find |2 2 —4|.
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5. Find the determinant of f___ol--g _i _ﬁy cxpanding across a rowd or columng.
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6. Find the determinant of (1] _02 _42 0 using the permutations-based definition of the
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determinant.
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